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scp	user@serv1:/path/to/file	.





#	script.sh	à	mettre	en	crontab	avec	*/10	*	*	*	*
sftp	user@serv1	<<<"
		get	/path/to/file	localfile
		rm	/path/to/file
"
tstamp=$(date	+%Y-%m-%d)
mv	localfile	localfile_$tstamp
mail	-s	"Fichier	important"	-a	localfile_$tstamp	steph@cnrs.fr



<data>
POST



<data>
POST

#	???







http://www.enterpriseintegrationpatterns.com/


/data/in
/data/out



/data/in
/data/out

from("file:///data/in").to("file:///data/out");



/data/in
/data/out



…​
…​



from("file:///data/in?delay=1000&move=../archive")

file://
/data/in
delay move



from("file:///data/in?delay=1000&move=../archive")

file://
/data/in
delay move

from("sftp://user@host/data/in?delay=1000&move=../archive)



…​ …​

http://camel.apache.org/components.html




from("sftp://user@serv1/path/to?"	
		+	"fileName=file"	
		+	"&move=done&moveFailed=error"	
		+	"&delay=10m"	
		+	"&readLock=changed")	
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String	sftp	=	"...";	
from(sftp)
		.split().tokenizeXML("data").streaming()	
						.throttle(100).timePeriodMillis(60_000)	
						.to("http4://server/rest/api")	

<data> streaming

≠ POST
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onException(IOException.class)	
		.maximumRedeliveries(3)	
		.log("Oups").handled(false);	

from(sftp).split().tokenizeXML("data").streaming()
		.throttle(100).timePeriodMillis(60_000)
		.to("http4://server/rest/api");
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.split(body(String.class)).tokenize("\n")

.split(xpath("//data"))

.split().parallelProcessing()

.split().streaming()

…​



.aggregate(header("correlationId"))

.aggregate(xpath("/item/@id",	String.class))

.aggregate(new	
GroupedExchangeAggregationStrategy())
		.constant(true).completionSize(5)

…​



.resequence(body()).batch().size(10).timeout(2000)

from("timer:demo?period=100")
		.loadBalance().roundRobin()
		.to("direct:A",	"direct:B")



from("direct:start")
		.filter().xpath("/person[@name='Bob']")
		.choice()
				.when(header("id").isEqualTo("foo"))
						.to("direct:foo")
				.when(header("id").isEqualTo("bar"))
						.to("direct:bar")
				.otherwise()
						.to("direct:other");



…​





…​



https://www.openhub.net/p/camel/commits/summary







